THER - TEEE—RRFALBR (FNEEE)

T i T = 4 %= # E EH AL BB T FLE
- RAEEGE 18 I RSEEGE1ENIRIEEG 18| RSFEEGE1E|RIEEGE 15 | REFEGE 18]
1FEEXH 0 0 0.00 0.00 0.00% 0.00%
1FHFAULIFAAXRE 21 20 1.48 1.20 97.31% 97.68%
TR—= 3FEHLUE1EAXE 37 37 1.32 1.32 98.28% 97.73%
1EAUE 3 0 1.00 0.00 98.72% 0.00%
EN 61 57 1.36 1.28 97.96% 97.71%
1FEEXE 0 0 0.00 0.00 0.00% 0.00%
1FHFAULIFAAXE 2 0 1.50 0.00 99.69% 0.00%
EE—K SFFAUE1BEAXRE 1 1 1.00 3.00 94.44% 92.00%
1EAUE 2 2 1.00 1.50 98.41% 95.61%
£8 5 3 1.20 2.00 98.13% 94.40%
1FEEXE 0 1 0.00 3.00 0.00% 92.02%
1FEHEULSFAAXRE 1 0 9.00 0.00 91.20% 0.00%
EXRIE SFEHEUE1EAXE 2 1 3.00 7.00 92.38% 92.00%
1EAUE 2 0 1.00 0.00 97.00% 0.00%
e 5 2 3.40 5.00 93.99% 92.01%
1FEEXH 0 0 0.00 0.00 0.00% 0.00%
1FFAULITFAAXR 4 4 2.25 1.50 95.26% 97.98%
EIE 3FEHLUE1EAXE 4 4 1.50 1.75 95.58% 96.76%
1EAUE 3 2 1.00 1.00 99.48% 99.78%
EN 11 10 1.64 1.50 96.53% 97.85%
1FEAXE 0 0 0.00 0.00 0.00% 0.00%
1FFAULIFAAXRE 2 3 2.00 2.00 97.03% 97.83%
HEIS 3FEHLUE1EAXE 0 2 0.00 1.50 0.00% 97.44%
1EAUE 0 0 0.00 0.00 0.00% 0.00%
EN 2 5 2.00 1.80 97.03% 97.68%
1FEAXH 1 1 2.00 3.00 91.62% 98.03%
1FFAULIFAAXRE 8 5 4.00 2.80 94.39% 98.07%
oL 3FEHELUE1EAXE 6 1 2.33 3.00 96.30% 96.41%
1EAUE 0 0 0.00 0.00 0.00% 0.00%
EN 15 7 3.20 2.86 94.97% 97.83%
1FEAXH 1 2 2.00 3.00 91.62% 95.02%
1FHFAULITFAAXE 38 32 2.32 1.56 96.43% 97.79%
2T SFEHLUE1EAXE 50 46 1.52 1.57 97.51% 97.35%
1EAUE 10 4 1.00 1.25 98.54% 97.69%
EN 99 84 1.78 1.58 97.14% 97.48%
BT %EILE RIEE(E1H)
L TR E REEE(S1H)
99.00% +— —_—
97.00% —
95.00% — —i —
93.00% —
91.00% —
89.00% —
87.00% —
85.00% — — —
83.00% —
81.00% — — H—
79.00% —
77.00% — H— —
75.00% — = L L
1 1 3 1 1 1 3 1 1 1 3 1 1 1 3 1 1 1 3 1 1 1 3 1
¥F ¥ F B/ FI F|IFIEBE|IFIF|IF|E| F|F FIE|FI F F E OFI|F| F|E
55|55/ ®”|®5| 5|5 8| 5|5 |5/8| 5|5 5 A8|B5|E5|F5 A8 FE5|F5|A
AlA ALY A A”A|/A| WL @ A A[” S| A/A|A|Y A /" @ |8 @8 &
£ W B E | x| E R E R BB E KRB E] X | E
& £ E B £ E & £ E & £ E & £ E # | £ E
3 1 3 1 3 1 3 1 3 1 3 1
F | @& F | @& F| & F| @& F| @& F| @&
% | A % | A % | A % | A 5| A 5 | A
A | % B | % B % B % B % B %
x| & x| & x| & x| & x| & x| &
b b b b b b
TAR—= EgE—= BRIE EIE SETE Z0Hs




